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[image: image1.png]The iterative formula
x_az%a,mq), x,=03,
is used to find an approximate value for k.

(b) Calculate the values of x;, x;, x3 and xs, giving your answers to 4 decimal places
(0]

(<) Show that k= 0.277. correct to 3 significant figures.
(]
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[image: image2.png]‘The function s defined by
fix—@-2). x<2 ad xeR.

(a) Show that the inverse function of £ is defined by

£lire2-

‘and write down the domain of £~
@

(b) Write down the range of £
o
() Tnthe space provided on page 16, sketch the graph of y =£-}x). State the coordinates
of the poiats of intersection with the x and y axes.
“@
‘The graph of y =x-+2 crosses the graph of y=£-1(x) at x=k.
The iterative formula

e*, x,=-03

is used to find an approximate value for &

(@) Calculate the values of x; and v, giving your answers to 4 decimal places
@
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[image: image3.png])= —F+33-1.
(2) Show that the equation f(x) = 0 can be rewritten as
- (;]
V5 )

(b) Starting with x; = 0.6, use the iteration

ey )

to calculate the values of v, v; and x4, giving all your answers to 4 decimal places
@

(©) Show that x = 0.653 is a oot of f{x) =0 correct to 3 decimal places.
®
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[image: image4.png]f(x)=In(x+2)-x+], x>-2xeR

(a) Show that there is a root of f(x) =0 in the interval 2<x<3

@
(b) Use the iterative formula
X =, +2) 41, %, =25
to calculate the values of x,.x, and x, giving your answers to 5 decimal places.
®

() Show that x=2.5051s a f0ot of fix) =0 correct to 3 decimal places
@




Jan 2009

[image: image5.png]() =3xe" -1
‘The curve with equation y = £(x) has  tuming point P.

() Find the exact coordinates of P.

®
‘The equation £(x) = 0 has a root between x= 025 and x= 0.3
(b) Use the iterative formula
e
‘with x, = 0.25 to find, to 4 decimal places, the values of x, ¥, and x, ©

(©) By choosing a suitable interval, show that a root of £(x) = 0 is x = 0.2576 correct to
4 decimal places
®
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[image: image6.png]fx)=x +2x* ~3x-11

(a) Show that f(x) = 0 can be rearranged as

J(3x+l!]
x= , x#E-2
x+2

@
The equation f{x) = 0 has one positive root ¢.
— 3x,+11) . P
The iterative formula x,,, = ”+Z is used to find an approximation to a.
(b) Taking x, =0, find, to 3 decimal places, the values of x,, x, and x,.
[©)]

(¢) Show that & = 2.057 correct to 3 decimal places.
3




